


m“w Gtowﬂ\.:un“:mmv of $9,12, lfM\an frond end joud
X mmmmm«.mmu«:

Question 2

You are consxdeung_ investing S1,000 in o T-bill that pays o e of rewm of 005 wnd & fky
portfolio, P, constructed with 2 risky securities, X and Y, The weights of X and ¥ in ® aie 060

and 0.40, rcspccnvcly. X b expeemd ‘rate of refum of 017 and a variance of GO\ ana N ::
an expected rate of retum and a variance of 00081, £ you want o form npm\h\\\o‘\ w-\‘ i
cxpectcd me oi retum of(J of ywr m\a\ you nvest n e

10, what pereentage
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Question 5

Given an optimal risky portfolio with expected retum of 8.4 L und standand deviation o1 D32 und
arisk free rate of 003, what is the stope of the best feasible CALL S Pointsy

Z|Pase






First, let's calculate the load fee that the investor will have to pay:
Load fee = 5% x $50,000 = $2,500

This means that the investor will have $47,500 available for investment after paying the load

fee.

Now, let's calculate the number of shares that can be purchased:
Number of shares = Amount available for investment / NAV
Number of shares = $47,500 / $9.12

Number of shares = 5,207.24

Therefore, the investor can purchase approximately 5,207.24 shares of the DEF aggressive
growth fund with an investment of $50,000 after paying the 5% load fee.



Answer the below Questions uising the above table
TIMAL WEIGHT FOR {A} PORTFOLIC CONSIST OF A AND B

. WHAT IS THE op

{3 points) :

2. WHAT IS THE OPTIMAL WEIGHT FOR {8} PORTFOLIO CONSIST OF A AND
B(3 points) _ -

3 WHAT IS THE RETURN OF THE OPTIMAL PORTFOLIG? (2 poims)

4. WHAT IS THE STANDARD DEVIATION OF THE OPTIMAL BORTFOLIGH o
points) ' o

5. WHATIS THE WEIGHT OF THE RISKY ASSETS INTHE COMPLETE OFTIMAL
PORTFOLIO? (2 points) )

6. WHAT IS THE STANDARD DEVIATION OF THE COMPLETE ORPTIMAL

PORTEOLIO? (2 points)
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To find the optimal weight for a portfolio consisting of stocks A and B, we can use the formula for
the weight of stock A in the optimal portfolio:

W(A) = [(ECA -rH/(A*oA*+B*0B*+2*A*B*g A* 0 B*p AB)

where W(A) is the weight of stock A in the portfolio, E(rA) is the expected return of stock A, r_f is the
risk-free rate, A is the degree of risk aversion, g_A and g_B are the standard deviations of stocks A
and B, respectively, p_AB is the correlation coefficient between the two stocks, and B = 1 - A.
Plugging in the values given, we get:

W(A) = [(0.11 - 0.035) / (5.5*0.2° + (1-55)*0.11> + 2*55*(1-55)* 0.2 * 0.11 * 0.4)]

WI(A) = 0.436 (rounded to three decimal places)

Therefore, the optimal weight for stock A in the portfolio is O.436.|
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£3, Yeu puschiuse ane IBM March 100 pt cantrzct for 100 doliars and put peesium of
S5 What is the musimum profit thas you could gain froin this strategy?

AL 10600

B 10,000

€ 9400.

Do enough infarmation

4. Buyers of mit options anticipurs the value of the underdying asset will il
sellers of call options anticipace the value of the urderly (IR T ) R E—
AL increase; dacrease

B, decoeast: dacrease

. increase; increase

D-decreass, Increase

r

15, yau boughta call option for i

20 dollars anc pay & premivm of § doliars the markes e s
125 dollars your pav oiTis zero

and yolr profitis minus 3dollars

spread incurred

B. .Sold short and purchased on m
£ Must be bought for fee + bid-as)
D, Continuous trading
I Potential tax advantage

17. The divisor for the Daw Jones Industrial Average (DITAT s moss Jkely 1o increase it a stodk
in the DIA: !

A.is removed and replaced
B. has a stock split.
G, has a revecse split,.
D none of the any’’




C: Birmerf),
D. The expected retum on the market, i

10, —————._ choice can be divided into two indeperdent tasks: (1) Determination of the ontina
risky portfolio, which is a purely. mathematical problem, knd a)(ﬂ)w pessonal choice of :\‘: g
mix of lhg optimal risky portfolio and the risk-free asset, which depends on a person's degree of
risk aversion i

A, Separation property

B. Portfolio management

€. CAPM

D. Asset allocition

1l investors’ Choice Fund find NAV pet share of $37.25 on Jangary 1, 2009, On December 31 of
- the same year the fund's rate of return for the year was 12.3%. Income distributions were $1.14
‘and the fund had capital gain distributions of 51,35, Without considering taxes and transactions
costs, what ending NAV would you calculate for Investors' Choice?

$41.20

12.01d Economy Traders opened an account 1o short-sell S00 shares of Internet Dreams

it $30 per share. The initial margin requirement was 55%: A year later, the price of Internet
reams has fallen from $30 1o 26§ Kk has paid a dividend of $1 per share. 1f the

naintenance margin is 35%, at what Q1d Economy receive a margin call?

AL 3444 .




A Supposs taw portfolios fiave the sime HYerage returm, |h: sam: sx:::un! ;l:‘\,lwp:r:‘::"r:\:n:
Ubut portfolio A hes o higher beta than ponsfolin B, According to the Shirpe
perfommance &
A belter th B
B: poorer than B
Gtk saeric ny B

D oot =nough informution is g

Ibe measur, ent frantlee is (efficient portfolio b
AL specific risk
&

8. standard deviation of recurn

C, bera

13, Unsystemaric risk

6. The efficicat frontice repeesents the set of portfolic

bathasthy
A.maximum rate o

Crenuen for
cetum

Frisks or the minimum risk

for every level of
B 5

Ximunt rate of ey for “venygiven devel of risk: or the maximum risk far e
retunm,

C minimum e of

retury,

ey level of
eturn for e

given fevel of tisk, or the munimum rigk for every fevel of

7. The ruinum::nw.w'uncc 7

Lro-beta portfolio most likely |
A systemuatie and u

asdome.
ASVStematic risk
B unsystematic v 2nd no svs

Cmatic risk




